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General Instructions :

Please read the following instructions carefully and strictly follow them.

(i)
(ii)
(iii)
(iv)
(v)
(vi)

(vii)

This question paper contains 15 questions. Marks have been indicated
against each question.

All questions are compulsory.
This question paper is divided into three sections — Section A, B and C.
Section-wise overall choice is given to the students.

Section A : Questions number 1 to 6 (6 questions) carry 2 marks each.
Attempt any 4 questions out of 6 questions.

Section B : Questions number 7 to 11 (5 questions) carry 3 marks each.
Attempt any 4 questions out of 5 questions.

Section C : Questions number 12 to 15 (4 questions) carry 5 marks each.
Attempt any 3 questions out of 4 questions.

SECTION A

Attempt any 4 questions out of 6 questions from this section.

1.

98

Kwality Stores is famous for its woollen garments sourced from
Ludhiana. Its most popular selling item is its sweat-shirt which is sold at
¥ 1,000 per piece. The cost of placing an order and receiving goods is
T 500 per order. Its holding cost is ¥ 300 p.a. Economic order quantity
for Kwality Stores is 200 sweat-shirts.

Calculate the annual demand of the sweat-shirts.

What is the job of Angel investors ? State any one feature of Angel

investors.

What is meant by ‘Personal Selling’ ? State any two roles of a

salesperson.
Give the meaning of a ‘Franchise Agreement’.

Give the meaning of ‘Variable Price Method’ of pricing.

Page 3 P.T.O.
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(1) UHhg T =56 (CCC) 1 31 A |

(|) Uh ™ H Thg FIFRU =36 (CCC) TF Hrefet gt i arufea wmn
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(%)
i. &% 1,00,000
ii, &R 2,50,000
jii. HER 82,600
iv. UHS 38,000
v. Tcu-srafy feaw 2,00,000
vi. 3TcU-ITafy o 1,42,000
vii. ard-srafy frem 3,00,000
viii. 376d = 50,000
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Attempt any 4 questions out of 5 questions from this section.

7.

98

Oorja and KTC Wifi are two broadband provider companies operating in

South-East Delhi. Both are close competitors and have developed their

strong customer base over the years. The COVID-19 pandemic made the

offices and schools switch their customer base online. Just then a

multinational service provider company, Storex BB, entered the market

and launched its services at a much cheaper price with better

connectivity. To counter the threat posed by the company Storex BB, both

companies Oorja and KTC Wifi decided to consolidate their business.

(a)  Identify the enterprise growth strategy adopted by Oorja and KTC

Wifi.

(b)  State the type of growth strategy identified in part (a) above.

(c) Give the goal of the type of growth strategy as stated in

part (b) above.

SECTION B

(a)  Give the meaning of Cash Conversion Cycle (CCC).

1 1
—+—+1=2
2 2

(b)  State the relationship between the Cash Conversion Cycle (CCC)

and the quantum of working capital required by a business.

(c) Calculate the Gross working capital for Ojas Ltd. from the details

given below :

ii.
1ii.

1iv.

V1.
Vii.

Viii.

Stock

Debtors

Creditors

Cash

Short-term Investments
Short-term Loan
Long-term Investments

Outstanding expenses

Page 5
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1,00,000
2,50,000

82,600
38,000
2,00,000
1,42,000
3,00,000
50,000
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11.
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Fr=r feu U foawor @ a9 2020 — 2021 % U ST se@EIEA I THAT | TI™
(ROE) &t 7T <hIf

ferazo T

(%)
i, T 10,00,000
ii. T 9 3Nk 3feAT ¥ 12% O 2,00,000
iii. 8% U 2,00,000

iv. dfd 18 TRl =29

—Jdq 1,50,000
— fortrn 50,000
— forsteft ot swnfirard 10,000
v. HoIgE 35,000
vi. W& 30%

HTfEes fosha 3| T 10,00,000 off G §= T HIA hHI AT T 4,00,000 o |
Teh SITUE o oI 9<ehl ol GHSST |

e’ wa ‘HATUUE o HRU o 9 § AHA Dl GHIAET |

FUTCA Th THT ITH YRY A o 7w 1fifi 8 St afeheied 3R PR shfad &
WEeay® fashedl H1 3ICAGT HATM | @AM hl WIE-NAMHarsti Ta gy
(FieR) o wuIfad fashedi I A & folg 389 T A14-ATg daeqor foham |
Th{d <l T3 FET o STUR W IG SR 1 fagawor fepan i Aifara, 18 w@
o & st g3 STehcied 1 Fihl SHRW o FIUE W & IR | 3w 1 i
forn | e ol forn o6 oTiw o 98 =fercie o1 sUEhd Iod 9 &R W
ffeaa wuft ot a1g § Sfa uin sgd hnft @ 98 qod i wunfed Sl |

(31) Tt grr et wiecem % fo0 wgw qeu-Fafor s # v

HIT |
(F) wuTelt grn g T8 ge-feaftor gt % fauee 3ew @ 3g@ Hif |

(@) Sww 9 (1) § vgEE i wH H gea-fuior sgee % R
AT T Soi@ hifY |
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11.
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Calculate the Return on Equity (ROE) for Neerja International, for the
year 2020 — 2021 from the details given below :

Details Amount
(%)

1. Investments 10,00,000
. (1)?;7; ;(;an from State Bank 2.00,000
iii. 8% Debentures 2,00,000
iv.  Fixed expenses per month

— Salary 1,50,000

— Rent 50,000

— Electricity & Utilities 10,000
V. Depreciation 35,000
vi. Tax Rate 30%

Monthly Sales revenue was ¥ 10,00,000 and Cost of goods sold was
T 4,00,000.

Explain the three components of a Brand.
Explain ‘Synergy’ as a reason for ‘Mergers’ and ‘Acquisitions’.

Rupali intends to start an enterprise that will produce healthy
alternatives for chocolates and sugar cravings. In order to assess the
taste preferences of people and possible options for flavours she
conducted an online survey. Based on the information collected she
analysed the market and decided to launch coconut, jaggery and sesame
based chocolates under the brand name ‘Coco Demerara’. She decided to
fix the price of chocolates at a relatively lower level in the beginning and
later on as the demand picks up she may revise the price.

(a) Identify the pricing strategy used by Rupali for her chocolates.

(b)  State the marketing objective of the pricing strategy opted by
Rupali.

(c) Mention any two advantages of the pricing strategy to the firm,
identified in part (a) above.

Page 7 P.T.O.
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Som O w1 = ot 7 2 Em IS fam TRl =w fomiwaren o sgw
HITT |

‘oo sp@an (wiemm)’ o1 de i | foafa fore S et 3carg i Tepld T
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1 ST |

‘TR WiegH fafiee’ an Bl @ @ Aol 8 Fiia ta w@fes &9 4
griftrd gE-sheE U ek Wlig AW § | HE 1 wEWy wd wa # sfen AW
2 | SHhI MIH-hITH fcaeh!’ SV AT & F=aiid St Il 7 | HERIE | HE
A TSedl | 9 SHIC U @ ifeRd el o STHR H I8 HHAdT o (¢ FoY L @l
2 | SR HIU IR U YA Agg-shirg fafiee’ gt a%d LT svg
H Jfafd 3 | Uea ssEshre fafies’ Tt wafieear § SW - arelt
TR G SASH-shT sl © |

PR Tl fafies’ 9 9 Tk ¥ FTa=ia i hl ol I kT T
aga-shiem fafies’ i ©fd & SRu 98 99 Tl § g% T8l 8 Hehl |
e, P Aoy e’ 7 Ued gEshir s’ & Jarad T ST
=T sgm o fofu 35 3791 Wl WiieT TRy e fea |

(31) T % IR ¥ fo™ S % w9 A FR wewn e’ g
SAUATT T 3 SHGHT TS & JhR ol IgaH-T T FHET |

(@) ‘g Ferem fafiee’ g feamea 6t o g F AR W
T B AT fehesl QI SATHT Sl EHEATST |
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SECTION C

Attempt any 3 questions out of 4 questions from this section.

12. What is meant by ‘Venture Capital’ ? State any four features of venture

capital finance. 5

13. Give the meaning of ‘channel of distribution’. Explain any four factors
affecting channels of distribution with relation to the nature and quality

of the product being distributed. 5

14. ‘Kapoor Merrytime Ltd. is a renowned name in naturally flavoured
ice-creams made from fresh fruits and edible vegetables. The company
has its presence in Maharashtra and Goa. Its ice-creams sell under the
brand name ‘Satvika’. The company has a strong foothold in Maharashtra
but is struggling for success in the Goa market. The reason is the
presence of a successful local brand by ‘Pastle Ice-creams Ltd.” in the
market. ‘Pastle Ice-creams Ltd.’ is selling natural ice-creams with locally

preferred flavours.

‘Kapoor Merrytime Ltd.” tried to negotiate its way but because of the
goodwill of ‘Pastle Ice-creams Ltd.’, it could not succeed in its efforts.
Frustrated, ‘Kapoor Merrytime Ltd.” started buying the shares of ‘Pastle
Ice-creams Ltd.” to gain control over the management of ‘Pastle

Ice-creams Litd.

(a) Identify and explain the type of business combination adopted by
‘Kapoor Merrytime Ltd.” as its growth strategy in the Goa market.

(b)  Explain any two advantages which ‘Kapoor Merrytime Ltd.” would
have by adopting its designed strategy. 5

98 Page 9 P.T.O.




EEwE
b
o}

15.

98

g HteE fafies’ difcgs BHiet s § SR § 37Ul § | 379, 98 T =5
3ITE-Yh H Ja9T i hl AT 1 @ 8 3R 98 8 kel Ud &g § o
BT |

ICATE ARY T o Tolu 30 15 WefH, It AfHeh Td A1 & 31| [ura hl
TRl MU | 391 Fooh foTT 3/ T 2 HUS H EWHdT & | Tad A=
fafiee’ faefiren frifia e e whidd e amgd 8 | dferd 3@ e
Hed A foefiem & mem @ o fiftd @ @ g9, foeomm smarfei =t
T ¢ o TofT, SAAT(Ieh STMER T 35 37 FITHd ohid sl Horg o |

(31) 38 YSfl 9NN % TR o 9gaM T @ 30 wwesy ek g ‘gam

Fiad fAfiee’ SISl sl Tshid T Imad! 3 |
(@) 3w feufa & =f<ia i 1 Thha & 6l g1 i s aHemsy |

(@) & A ol faafirem & wemm | fifia e Sman 8, O Fowent &
1 gfaeet firerar & 2
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15.
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‘Pratap Furnitures Ltd.” is the market leader in moulded furniture. Now,
it is planning to enter into a new product line, that is, furniture made of

wood and bamboo.

To start production it needs new machines and skilled labour along with
good quality wood. For all this it needs ¥ 2 crore. ‘Pratap Furnitures Ltd.’
is planning to raise funds by issue of prospectus. But its Board of
Directors decided to honour the existing shareholders by offering them

the shares on pro-rata basis, before going for issue through prospectus.

(a) Identify and explain the type of capital market from which ‘Pratap

Furnitures Ltd.” is going to raise funds.

(b)  Explain the two methods of raising funds discussed in the above

case.

(c) What reward do the investors get when shares are issued through

prospectus ?
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